
-- ---

~ fÅ.,~lt -I- b~' ... Cj =: ~ t+:) - - - - (~

ltÆrn- et) b~ ~ OL:fO ~+(~) 1JLC~,

c:r~ ~ --- - _. - b, \ - n.. - -- Il .J~ .J, \

CLlIJl'-+ hllJ' + C-l? = 0- -- -- - - J H)

AJt2.. +-_h..&.+ c.. ':: O - (k:. '> .

~.

- -

-- -
o

~-

--

- --

--

-

-- - -

- -

--

-- - ---

~l ~" + 3j' +~J:; )Oe3t:

~~~~.~~~~
~~

~ ::. A e,3t- ) - ---

'd~Læ~~A:
-'j', (-t)::. 3 A ~3t ;; !J~_l-t) -==-Oj A~3t ~

" 3 I 2 ~ A 3't () r; 3t 2 11: 11;* +- ~r + Jf - ( e. .,. J ,-~A_~ - -L\-~ :: :LOA e.. .
2 o A = 10 # A:; t. -

Q) (!-) I 3t ~ ( ,~. ~r""t;- == '2-e.. PÆ~_~ ~

~--
----

--- - -

--

-- ----

- -

ø



( :) -o- ..J I.- ...$-=--

JLt) u.~

~i:t) 5~.2.

Jwv; ~.e/f' PA'L. ~ A. (Ic).

.Jvm,; r .R/r ~ ~ n-rnt A" ( k- ") ,
kM r lÆ-~ t"Ifn1ti ;1..' (KJ..

---

--

~

- __f~v) s=o kM ex..+ Lt ~.P/r.hv\. ~ ~ (/<.).
~ /

- - -~ ,S:: j ~ DC.- +if> ~~ t'ftr;t ~ (.fe),
I

--

--

~.: ~ /I + 2.~ I - 3!1 = 1- Co.! (3t)-= 1tO e.0..t C:.o!..~

rn=-~ ) DG.=0 ) {l>:: 3 -- -- -

R1. .J- 2.. R. =-.~ ~ o ~ ~ 'oc-+tft = Si. ~. rrrd..) ~ s=O~

~) ~ Aa co~l3-t) + Bo $l'v,(3t~ -

hvurr At) ?-~ ~ ~ ~ ~; +2..~~-3Jr= 9-cosl3-b).
-- - - - -- -

--

~, ([f~~L
~ ~(-t) ~e.(-&) ~.A

~;'~; re" =- ~t(-b) J

a.Jjf +- hj; + c ~2 = ~z (-tt
f!~ ~ ~~1'+ R-2-~2 ) )wzrr'~,)~2..€~

lA ~ Il + bj ( +- c.~ = ~ l ~ t) + ~ -t
(.~~ ---

~ (~,jl + k2.~t)" + k (k. Ij,+ ~z 'J2)' +_c- Ck.,Jg1+~2..~::;

~ ( Ie., ~1;f) + !> (k",' + k2. 'h) + c. ( It." J -I-'Iz.~'il,") :

k.+-1 (;\,;' + b',' +-c j I) + ~(PI. ~t + b~ ~ + c.~2.) -::. le, ~I (t) + h..z'1--2-(t) .
~ ---

_.:::..

-



--- - ----

---

~*'":-2~' + S"} =' 2",t-+ 3-

- - ---1Y~~ ~r (ol;) = A ~B-L
~. (~):; A 11t (t-) :; ~ ()JI ) r ~ ---

--'j~' - 2,; +Sjf :: O-=-:LA + 5(At+B~- ~At-r~B-2A
5/\ - 2.. ~! A - -

-'-- -~ =-- ~. =--$4--
5B-2A=3 ~ B- 1-(3+2A) ~ B~-k-(Si"2.:~)=~ -

(i'.. 2... /9

O<J~ !Jr (i):::. "$-1; +25 P/'rP~. ~ ~
----

- --

~~~
1/;.'J.--~ ~ D .- '

. __I ~ -'" (L \ _h'.. ~ r~~ ~ --1-+-f.~ -2-
\ '\ Ai/- {L' .

----

::,.



--

~k. ~ -- - -!:J 11_-:_Z~' -t-~:J := 2:&+3 ~) --

~~ ~ ~: b'(--2~'+~=() -- ----
L- - ~ 2.-2 R..~? = () - -

D === fg )2-_v't I 1.5_:- ~ li- -1!L~2'1.-} g-= - ~-z.)~ 'tt'- = J:!:2i ---

- - -~) -~- _c-I-~~~os.l~i2 + ~,e t ~ Li-,(2.:6:) - - -

- - -~ - -( , Ait - ~1 f'LL- -~ Li:)~ Jr(-& Li"J-h (ob) --
~L__- -- - - --- ---" -

- _H -tJ(1;) = ~t-t~ +c~t-COJ(2:/;)fse"tSl,..,(~t-J ~C.lEre.~
- - ----- - -----

--- ---- -- - -- -- - - -

-- - - - -- -- - - - ---- - -----

- - - - - -- - -- - -- -- -- --

--- - - - -- - - - - -- - - --

- - - -- - - - - ----

- - - - - -- -- ---

- --- - -- - - - - - - --- -

-- - - --- - -- - - -- -- - - -

-- -----

'.
--'--- - ----- -- --

- --- - - -- - - -- -- --

-------- -- --

- --- - - - - ---

- --- -- - ---

---

-----

- .~~ _.~ ~ ~--


